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The Industrial Revolution Begins!

Starting around 1750, Europe experienced a series of major changes.  They began with improvements in farming that led to an increase in population.  These changes contributed to the Industrial Revolution.  With the Industrial Revolution, social classes, people’s roles, working conditions, and city life changed greatly.  With these changes came different problems, and this influenced the different decisions that people made. 
The Agrarian Revolution
In 1750, most people still lived in small villages and made their own clothing and tools.  In the century that followed, dramatic changes took place in the ways people lived and worked.  The movement away from rural life began with the Agrarian Revolution, a change in methods of farming.  These methods (improved irrigation, better fertilizers, faster machines) made it easier to make larger amounts of food, which lead to a population explosion.  With a better diet, women had healthier and stronger babies.  In addition, improved medical care and sanitation helped people live longer.  Why would improved sanitation help people live longer?  What types of changes in sanitation do you think there have been in the South Bronx in the last 100 years?
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The Industrial Revolution

The Industrial Revolution was the period, beginning around 1750, in which the means of production of goods shifted from hand tools to complex machines, and from human and animal power to steam power (in factories).  What is a “good”?  What types of goods do you think used to be made at home?  During this period, technology developed rapidly and production increased.  The Industrial Revolution brought great changes into people’s lives.

Causes of the Industrial Revolution
Industrialization began in Britain (what are two other names for “Britain”?).  In time, the Industrial Revolution would spread throughout the world.  It happened first in Britain for many reasons.  

1. Geography – geography played a large part in Britain’s industrial success.  As an island, Britain had many natural harbors for trade.  Rivers served as both a means of transportation and as sources of power for factories.  Giant water wheels were used to power the machines in these factories.  Soon coal was used to power steam engines, which would become an important power source for machines.  
2. Colonization – Another factor was Britain’s success as a mother country.  Their successful overseas empire had made their economy strong.  Therefore, they had the money to invest in mines, railroads, and factories.

3. Abundance of Natural Resources – England had an abundance of natural resources, such as coal.  What does abundant mean?  What is there an abundance of in our classroom?  What is a natural resource?  Can you think of any other natural resources that we use today?

Abundance – _____________________________________________________________

Natural Resource – ________________________________________________________
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Factory System and Mass Production
The textile industry (what is a textile?) was the first to use the inventions of the Industrial Revolution.  Before the Industrial Revolution, families spun cotton into thread and then wove cloth at home.  By the 1700s, new machines were too large and expensive to be operated at home.  Companies began to build factories near streams, in order to mass-produce textiles.  Why would they build them by streams?  Later on, these machines were powered by steam engines, fueled by coal.  The factory system promoted mass production, meaning that goods were produced in huge quantities at lower cost.  Can someone explain the meaning of “mass production”?  Who uses mass production today?

Effects of the Industrial Revolution
There were many effects of the Industrial Revolution:

1.  Urbanization – people moved from small villages to towns and cities where factories were located.  At first, conditions were very bad.  Working-class people lived in crowded building with little sewage or sanitation.  Factory hours were long – men, women, and children often worked 

12-16 hour days.  Mass production also led to work that was boring and machines that were dangerous.  What do you think happened to many people in these conditions?

2.  Changing Social Roles – the roles of men, women, and children changed in the new industrial society.  Farming families had previously worked together on the farm.  Now the workplace became separated from the home.  Working class children had to work long hours to help support their families and didn’t have the chance to go to school.  Would you rather go to school or work in a factory?  Which one is harder?

3.  Improved Transportation – The growth of industry led to improvements in transportation, including roads, steam ships, and RAILROADS.  What do you think the main effects of having railroads were? 










































